30. ura: stopnjevanje pridevnikov 2: utrjevanje primernika
V zvezek prepiši in reši naslednje povedi:

Primer: 
mountain, tree (high/low): 

Rešitev: 
a) A mountain is higher than a tree. 
b) A tree is lower than a mountain.

1. pencil, ruler (long, short):
a. A pencil is longer than a ruler.
b. A ruler is shorter than a pencil.
2. summer, winter (hot, cold):

a. Summer is hotter than winter.
b. Winter is colder than summer.
3. mouse, lion (loud, quiet):

a. A mouse is quieter than a lion.
b. A lion is louder than a mouse.
4. snail, rabbit (slow, fast):

a. A snail is slower than a rabbit.
b. A rabbit is faster than a snail.
5. father, son (tall, short):

a. A father is taller than a son.
b. A son is shorter than a father.
6. man, boy (strong, weak):

a. A man is stronger than a boy.
b. A boy is weaker than a man.
7. apple, plum (small, big):

a. A plum is smaller than an apple.
b. An apple is bigger than a plum.
8. farmer, king (poor, rich):

a. A farmer is poorer than a king.
b. A king is richer than a farmer.
9. chair, sofa (comfortable) – pazi, DOLG pridevnik:
a. A chair is less comfortable than a sofa.
b. A sofa is more comfortable than a chair.
